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= = AN B A AN | = = i HY = i N = =
= R 4 .(ia; 'FJﬁﬁfJ(:)U)EEH’E jj(ﬁgcn:é‘r)é K 4 m{ég’éﬁfﬂ ':né): jj(:iﬁcf)é X 4 ,(Em? J:m;b(z)a)tt.a. j:(gigcn%é R 4 J:m;b(ﬁ)a)tt.s. r(:.—,mé; jj(gilztn:c’%)é
1 100kN/m#%#BZ % -l -~ = —-|3m#EFEZS -~ = —| 100kN/mM%#B 2% = -~ = —-|3mZiBZD ol ~ - - -
s 1.00{0.00 ~ 439 54.84| Zh L4 1000 ~ 439| 2.00 10.13 ZznLst 1.00f 500 ~ 520 54.84| #nList | 500 ~ 520 2.00 10.13
9 100kN/mM%i#BZ 5 1.00{0.00 ~ 0.14 102.11|3m%EE 25 = ~ - - —| 100kN/mM%# 2% 1.001 11.39 ~ 11.79 102.11|3m%EE 25 al ~ = = =
ZhnLs 1.00{0.14 ~ 7093 100.00] #h kit | 000 ~ 7.93| 241 12.16 ZznLst 1.00f 500 ~ 11.39 100.00| Zhlist | 5.00 ~ 11.79] 2.41 12.16
3 100kN/m#%#BZ % -l -~ = —-|3m#EBZ 5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B ol ~ - - -
s 1.00{0.00 ~ 534 66.65| ZnLis | 000 ~ 534| 2.94 14.85 ZznLst 1.00f 500 ~ 11.05 66.65| ZnList | 500 ~ 11.05] 294 14.85
4 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEi#BZ B ol ~ - - -
s 1.00{0.00 ~ 649 81.74] #nLi4t 000 ~ 649 271 13.72 ZznLst 1.00f 500 ~ 11.19 81.74] #nList | 500 ~ 11.19| 271 13.72
5 100kN/mM%i#BZ 5 1.00{0.00 ~ 0.19 102.85|3m%E x5 = ~ - - —| 100kN/mM%# 2% 1.00{ 11.08 ~ 11.60 102.85|3m% 25 al ~ = = =
ZhnLs 1.00{0.19 ~ 7098 100.00] Z#hlist | 000 ~ 798| 2.36 11.93 ZznLst 1.00f 500 ~ 11.08 100.00] Zh st | 5.00 ~ 11.60] 2.36 11.93
6 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZB ol ~ - - -
s 1.00{0.00 ~ 5096 74.63| ZhLis | 000 ~ 596| 2.07 10.45 ZznLst 1.00f 500 ~ 8.27 7463 #nList | 500 ~ 827 207 10.45
7 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 324 41.35] Zh Ll | 000 ~ 3.24| 245 12.40 ZznLst 1.00f 500 ~ 6.56 41.35] #n iyt | 500 ~ 6.56) 245 12.40
g 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 5.08 63.28| Zh L4 | 000 ~ 508] 2.19 11.06 ZznLst 1.00f 500 ~ 7.66 63.28| #nList | 500 ~ 7.66] 219 11.06
9 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 6.90 87.34] FnLi4 000 ~ 690 2.70 13.67 ZznLst 1.00] 500 ~ 1224 87.34| #nList | 500 ~ 1224] 2.70 13.67
10 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 6.25 7852 #h st | 000 ~ 6.25| 2.83 14.32 ZznLst 1.00] 500 ~ 12.26 78.52| #nList | 500 ~ 12.26] 2.83 14.32
11 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
T IO0)) 1.00/ 0.00 ~ 6.54 8241 ZhLlst 1000 ~ 654 1.95 9.84 ZThLs 1.00] 500 ~ 847 8241 #hiis | 500 ~ 847 1.95 9.84
19 100kN/m%#E% % -l -~ = -|3mZzBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ - - -
T IO0)) 1.00/ 0.00 ~ 6.94 87.92] #h kst 1000 ~ 0.00] 1.73 8.73 ZThLs 1.00] 500 ~ 860 87.92] #hiis | 500 ~ 860 1.73 8.73
13 100kN/mM%Z#E% % -l -~ = -|3mZzBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ - - -
T IO0)) 1.00/ 000 ~ 6.74 85.22| #h kst 1000 ~ 0.00] 1.73 8.73 LS 1.00] 500 ~ 8.20 85.22] #hiist | 500 ~ 820] 1.73 8.73
14 100kN/m%Z#E% % -l -~ = ~-|3mZEBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ - - -
ZnLs 1.00{0.00 ~ 759 97.15| £h s |0.00 ~ 759| 2.32 11.71 zh st 1.00f 500 ~ 10.35 97.15] #n st | 500 ~ 10.35] 2.32 11.71
15 100kN/mM#Z#BZ.% 1.00{ 0.00 ~ 230 135.80|3m%E{B 2% =~ - = —| 100kN/mM%#B 2% 1.00 10.62 ~ 19.62 135.80|3m%EB 25 = R = - =
s 1.00] 2.30 ~ 10.08 100.00] ZH1 st | 0.00 ~ 10.08] 2.45 12.38 s 1.00] 500 ~ 10.62 100.00f #h it | 500 ~ 19.62| 2.45 12.38
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= = TR AN & T AN ] = = TR AN =3 TN =2 =
= X 4 .(ia; 'FJﬁﬁfJ(:)U)EEH’E ﬁ(ﬁfm%)é K 4 TJ“{E%E&”JK; .(:.Tn? jj(gigcn%é X 4 '(imé): J:m;b(z)a)tt.a. j:(gg:ﬁ%é & 4 J:m;ﬁ(i)a)tt.s. ,(=.—,mé)< jj(gilzcn:é)é
16 100kN/mM%i#BZ 5 1.00{0.00 ~ 219 133.96|3m%E{EZ D ol ~ - —| 100kN/mM%# %25 1.00{ 11.15 ~ 19.70 133.96|3m%EHE 25 .l ~ = = =
s 1.001 219 ~ 997 100.00] Zhlist | 000 ~ 9.97] 258 13.03 ZznLst 1.00f 500 ~ 11.15 100.00] Zh st | 5.00 ~ 19.70] 2.58 13.03
17 100kN/mM%i#BZ 5 1.00{0.00 ~ 1.65 125.26|3m%{B 25 = ~ - - —| 100kN/mM%# 2% 1.00] 1143 ~ 17.33 125.26|3m% 25 al ~ = = =
ZhnLs 1.00]1.65 ~ 944 100.00] Zhlist | 000 ~ 944 2.62 13.24 ZznLst 1.00f 500 ~ 1143 100.00] #hdst | 5.00 ~ 17.33] 2.62 13.24
18 100kN/mM%i#BZ 5 1.00{ 0.00 ~ 0.57 108.44|3m%E{B 25 = ~ - - —| 100kN/mM%# 2% 1.00 10.57 ~ 1222 108.44|3m%E{E 25 al ~ = = =
s 1.00] 057 ~ 8.35 100.00] #h it | 0.00 ~ 835 2.14 10.82 ZznLst 1.00f 500 ~ 10.57 100.00| Zhlist | 5.00 ~ 1222| 2.14 10.82
19 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEi#BZ B ol ~ - - -
s 1.00{0.00 ~ 449 55.98| Zh L4 | 000 ~ 449] 1.97 9.98 ZznLst 1.00f 500 ~ 520 55.98| #nLis | 500 ~ 520 1.97 9.98
20 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B ol ~ - - -
ZhnLs 1.00{0.00 ~ 395 49.55| Fn s 000 ~ 395 212 10.74 ZznLst 1.00f 500 ~ 520 49.55| #nList | 500 ~ 520 2.12 10.74
21 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZB ol ~ - - -
s - = ~ - -| £hiist = ~ - - - zh st - .~ - -| 2hus = - - -
29 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s - = ~ - -| £hiist = ~ - - - zhLst - .~ - -| 2hus = - - -
23 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 548 68.39| Zn L4t | 000 ~ 548| 2.22 11.22 ZznLst 1.00f 500 ~ 8.90 68.39| #nList | 500 ~ 890 222 11.22
o4 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 434 54.16] Zh L4 | 000 ~ 434 2.12 10.74 ZznLst 1.00f 500 ~ 5380 54.16] Zn it | 500 ~ 580 212 10.74
25 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s 1.00{0.00 ~ 496 61.78] Zhlist | 000 ~ 496| 2.06 10.43 ZznLst 1.00f 500 ~ 6.40 61.78] Zn Ll | 500 ~ 6.40| 2.06 10.43
26 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
Lot 1.00{0.00 ~ 282 36.66] =Lyt 000 ~ 282 240 12.11 zh st 1.00f 500 ~ 5.20 36.66] =14t | 500 ~ 520 240 12.11
97 100kN/m%#E% % -l -~ = -|3mZzBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ - - -
ZhnLst 1.00{0.00 ~ 565 7055 £h st | 0.00 ~ 0.00] 1.65 8.32 zh st 1.00f 500 ~ 6.40 7055 #nlist | 500 ~ 6.40] 1.65 8.32
28 100kN/mM%Z#E% % -l -~ = -|3mZzBRB| - ~ = = —| 100kN/mM%#B 2% = -~ = -|3m%EBZ5 ol ~ - - -
Lot 1.00{0.00 ~ 208 28.53] #n st 000 ~ 208| 2.60 13.15 zh st 1.00f 500 ~ 5.30 2853 #n L4t | 500 ~ 530 2.60 13.15
100kN/m%Z#E% % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
100kN/m%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHUs ~ Zh LS ~ ZHLUS ~ Zh s ~
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